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7 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — —|3m%iBZ B - ~ — — —
s 1.00 | 000 ~ 477 59.50 | =nWS | 000 ~ 000 1.71 917 ThList 1.00 | 5.00 ~ 56.00 59.50 | =hs | .00 ~ 56.00)| 1.71 917
2 100kN/m%#8%% | 1.00 | 000 ~ 086 112.92 |3mE#Bz5| — ~ — — — | 100kN/mM%E#B=25% | 1.00 | 1053 ~ 1307| 11292 |3m&E#825 - ~ — — —
ZhnLst 1.00 | 0.86 ~ 865 100.00 | #hst | 000 ~ 865|220 11.78 zhLst 1.00 | 5.00 ~ 1053 100.00 | =05t | 6.00 ~ 1507] 2.20 11.78
3 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM#%E#8% % — - ~ — — | 3ImZFBZ B - ~ — — —
s 1.00 | 0.00 ~ 4.61 57.45 | =nLS | 000 ~ 0.00| 1.59 8563 ThList 1.00 | 5.00 ~ 56.00 57.45 | =hLs | 5,00 ~ 5.00| 1.59 8563
4 100kN/mM%BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%E#8% % — - ~ — —|3m%iBZ % - ~ — — —
st 1.00 | 0.00 ~ 467 5818 | =nLs | 000 ~ 0.00| 1.62 8.66 ThList 1.00 | 5.00 ~ 56.00 58.18 | =nLst | 5,00 ~ 5.00| 1.62 8.66
5 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%E#8% % — - ~ — —|3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 6.20 77.78 | FnLS | 0oo ~ 620|201 10.77 ThList 1.00 | 6.00 ~ 827 77.78 | ThSY | 500 ~ 827|201 10.77
100kN/mM#E#BZ % ~ ImEHBRD ~ 100kN/ mM%#8Z % ~ 3ImERBAD ~
ZhLst ~ zhLst ~ ZhLst ~ Fnst ~
100kN/mM%#BZ % ~ ImEHBAD ~ 100kN/ M%#8Z % ~ IMEBZD ~
Thsn ~ Thst ~ Thsn ~ ZhLst ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhsn ~ Ths ~ Thsn ~ Zhust ~
100kN/M%#22 % ~ 3ImEHEAD ~ 100kN/ M%Z#BZ % ~ 3mEBZ D ~
zhsn ~ zhst ~ Thsn ~ Zzhust ~
100kN/MZ#2 2 % ~ 3mEHEAD ~ 100kN/ M%Z#BZ % ~ 3mEEBZD ~
Thilst ~ Thilst ~ ZhLlst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/mM%#2Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
Ths ~ zhs ~ Thsn ~ ZhLst ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ M%Z#BZ % ~ 3mEBZ D ~
Thilst ~ ThLlst ~ Thsn ~ Zzhust ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ M%Z#BZ % ~ 3mEBZ D ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~




